Tuesday 12t" May — Multiplication — Fluency & Application

Using your knowledge of using the column method to multiply, solve the following
fluency and word problems:
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1.459x 8

2. =88x34

3. 872 multiplied by 7
4.5621 times by 25
5. 14 lots of 4572

6. A cinema chain has 28 cinemas. The average weekly attendance is 9828. What is the
total attendance across the whole chain?

7. A wholesaler sells mangoes for 84p each. The wholesaler sells 13,330 mangoes in one
week. How much money will the wholesaler get?

8. The answer is 3105. Write a multiplication-based question which would achieve this
answer.




